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MSL-B
e A |CcH|D1|D2| F|H|L]|N
MSL-B-M5 M5 8 5 5 19 12 3
MSL-B-01 R1/8 12 8 7 6 24 14 4
MSL-B-02 R1/4 16 12 10 8 30 18 4
MSL-B-03 R3/8 18 14 1 9 85) 21 5,
MSL-B-04 R1/2 24 19 15 10 44 28 6
MSL-B-06 R3/4 30 25 20 10 50 32 8
MSL-B-08 R1 36 30 25 12 62 43 8
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A\ MSL-S-M5 M5 8 5 9.5 3
= N MSL-S-01 R1/8 12 6 12 4
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”JZiEft5ﬁ: MSL-S-02 R1/4 17 8 15 4
MSL _ B _ M5 MSL-S-03 R3/8 19 9 17 5]
Y MSL-S-04 | R1/2 24 10 18.5 6
MSL-S-06 R3/4 30 10 21 8
_l MSL-S-08 R1 36 12 23 8
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MSLC2-01 | R1/8 | 12 6|28 30 9| 7
MSLC2-02 | R1/4 | 14 9131 35 |10| 7
MSLC2-03| R3/8 | 19| 10355 39 | 10|10
MSLC2-04| R1/2 | 22| 10|36.5| 40 [ 10| 10
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MJBV-01 G1/8 | 38 | 14 1%}%@7‘3%’@ . 0.1~0.7 MPa o i N - F
MJBV-02 G1/4 | 47 | 16 ﬁﬁjgﬁj} . 1.5 MPa i 5 2 B
MJBV-03 G3/8 51 | 21
MJBV-04 G1/2 | 61| 25
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